X, = 0,110, B, = 0,800

XYZ,=95.04 ,100.0, 108.89 1004 By Parameter:
Y & Name
., Lichtart D65
a,=ay[(x-x )/ﬂ Y=10Q Y,=50
bz byolz/y
a0=1, by =-04 .

Ry 567775 7% 6603 5457 Dans o2 o 420
Vi 493775 86.13 97.18 57.92 0.357 04028 570 463
3, 476575 50.45 82,66 64.53 0.2876 0.4 528 528c N
C, 380567 65.3 8111 108.920.2557 0.3176 489 596

B, 380_493 56,57 52.96 10557 0.2629 0.2462 463 570

M, 575476 8325 67.48 9896 03334 02707 so0cs28  —100
W, 380775 95.04 100.0 108.890.3127 0.329  100%

N, 380_77547.52 500 5444 03127 0329 50%
z, 380_77517.1 180 196 03127 0329 18%

Cago=IAF+B1 83G2Q A

6 OstwaldFarben (0) | I A 2,
von maximalem (M)C,gim  _j00 81‘ D65y ' | o
Buntwertdiagram (A,, B,) '. GO Q67M2y
Lichtart D65, Y, =100, Y,; =50 Se > H

Name BerechX, V. 2, . bt -
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